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Question: 1

At which stage are we in adoption lifecycle of SaaS ERP?

A. Acceptance/Enthusiasm
B. Confidence
C. Euphoria
D. Confusion/Frustration

Answer: A
Explanation:

Question: 2

What do S/4HANA Cloud and S/4HANA on-premise has in common?

A. They run on the same upgrade schedule
B. The adoption of new innovations provided by SAP requires a similar time and efforts
C. They share the same scope
D. They are built from one single code line

Answer: D
Explanation:

Question: 3

Why does a two-tier ERP approach increase the complexity of the supporting IT architecture?
Note: There are two correct answers to this question.

A. Because processes that are specific to one subsidiary must be replicated in all subsidiaries
B. Because headquarters must backup all subsidiaries ERP systems
C. Because master data management and configuration needs must be harmonized across systems
D. Because integration becomes more complex in multi-vendor setup

Answer: C
Explanation:

Question: 4

Which of the following scenarios that cover end-to-end process between headquarters and



subsidiaries in a SAP S/4HANA Cloud two-tier landscape were highlighted in this unit?
Note: There are 3 correct answers in this question

A. Core Finance
B. Recruiting
C. Manufacturing
D. Procure to Pay

Answer: A, C, D
Explanation:

Question: 5

Which of the following are milestones of SAP S/4HANA deployment with SAP activate.
Note: There are 2 correct answers to this question

A. Scope items Assessment
B. Go-Live
C. Trial System Subscription
D. Starter System Deployment
E. Contract

Answer: B, E
Explanation:




